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Section A Vsaq

1. If  is defined by 

Watch Video Solution

f : R − { ± 1} → R

f(x) = log
∣
∣
∣

∣
∣
∣
, thenS.T f( ) = 2f(x)

1 + x

1 − x

2x

1 + x2

2. Find the domain of the real function 

Watch Video Solution

f(x) = √x2 − 25

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_06jKCasmEsiM
https://dl.doubtnut.com/l/_nmbsqaPl5wVU
https://dl.doubtnut.com/l/_0cE95NtVpfdU


3. If  then find  and AA'.

Watch Video Solution

A = [
2 −4

−5 3
] A + A'

4. Find the rank of 

Watch Video Solution

⎡
⎢
⎣

1 1 1

1 1 1

1 1 1

⎤
⎥
⎦

5. Let . . Find a unit vector in the

direction of 

Watch Video Solution

ā = ī + 2j̄ + 3k̄ and b̄ = 3 ī + j̄

ā + b̄

6. Find the vector equation of plane passing through Points (0,0,0) ,

(0,5,0) and (2,0,1)

Watch Video Solution

https://dl.doubtnut.com/l/_0cE95NtVpfdU
https://dl.doubtnut.com/l/_1Wexvfa0CaYb
https://dl.doubtnut.com/l/_F0UePTYiYBd4
https://dl.doubtnut.com/l/_qcyIguvQY6pN


7. If  then Show that  are

perpendicular .

Watch Video Solution

ā = ī + 2j̄ − 3k̄, b̄ = 2 ī + 3j̄ + k̄ ā + b̄, ā − b̄

8. If  , then value of  and determine the quadrant

in which  lies .

Watch Video Solution

sec θ + tan θ = 2/3 sin θ

θ

9. If A is not an intergral multiple of  , prove that 

Watch Video Solution

π /2

tan A + cot A = 2cosec2A

10. If  , then find the values of cosh x = 5/2

cosh(2x)

https://dl.doubtnut.com/l/_znN14Bg2yIfn
https://dl.doubtnut.com/l/_u5Gyqtn79Vfd
https://dl.doubtnut.com/l/_SrAI2d8K4VmP
https://dl.doubtnut.com/l/_NYhkp51GMvP2


Section B Saqs

Watch Video Solution

11. IF , then find the value of (i) cosh(2x) and (ii) sinh(2x)

Watch Video Solution

cosh x = 5/2

1.  then show that 

Watch Video Solution

θ − φ =
π

2

[
cos2 θ cos θ sin θ

cos θ sin θ sin2 θ
][

cos2 ϕ cos ϕ sin ϕ

cos ϕ sin ϕ sin2 ϕ
] = O

2. If ABCDEF is a regular hexagon with centre O , then P.T

Watch Video Solution

¯̄̄ ¯̄¯AB + ¯̄̄ ¯̄¯AC + ¯̄¯̄¯̄AD + ¯̄̄ ¯̄¯AE + ¯̄̄¯̄¯AF = 3̄ ¯̄¯̄¯AD = 6̄ ¯̄̄ ¯̄AO

https://dl.doubtnut.com/l/_NYhkp51GMvP2
https://dl.doubtnut.com/l/_lLkvmfPBPGGq
https://dl.doubtnut.com/l/_IvkGVDSM7lRl
https://dl.doubtnut.com/l/_YCc8i92wQKQc
https://dl.doubtnut.com/l/_3JGkMnFyBusv


3. Let  . Find the

vector which is perpendicular to both 

Watch Video Solution

ā = 4 ī + 5j̄ − k̄, b̄ − ī − 4j̄ + 5k̄ and c̄ = 3 ī + j̄ − k̄

ā and b̄ and ¯̄̄α . c̄ = 21

4. Prove that 

Watch Video Solution

cos2 76∘ + cos2 16∘ − cos 76∘ cos 16∘ =
3

4

5. Solve that 

Watch Video Solution

√2(sin x + cos x) = √3

6. Show that 

Watch Video Solution

cos(2 tan− 1. ) = sin(2 tan− 1. )
1

7

3

4

https://dl.doubtnut.com/l/_3JGkMnFyBusv
https://dl.doubtnut.com/l/_yQDrKc4A4s6a
https://dl.doubtnut.com/l/_i6fFcQWAvsMI
https://dl.doubtnut.com/l/_XEUOH36YzaHN


Section C Saqs

7. Show that 

Watch Video Solution

a2 cot A + b2 cot B + c2 cot C =
abc

R

1. If  are two bijective functions then P.T 

Watch Video Solution

f : A → B, g : B → C

(gof) − 1 = f − 1og− 1

2. Using the principle of finite Mathematical Induction prove the

following: 

(v)  is divisible by .

Watch Video Solution

3.52n + 1 + 23n + 1 17, ∀n ∈ N

https://dl.doubtnut.com/l/_YqtmSOqQZ0BE
https://dl.doubtnut.com/l/_JvyrTIowX3TQ
https://dl.doubtnut.com/l/_1yfrFRfTR2yo


3. Show that 

Watch Video Solution

∣
∣
∣
∣

a − b − c   2a   2a

  2b b − c − a   2b

  2c   2c c − a − b

∣
∣

∣
∣

= (a + b + c)
3

4. , by Gauss-Jordan

method.

Watch Video Solution

x + y + z = 1, 2x + 2y + 3z = 6, x + 4y + 9z = 3

5. If

Watch Video Solution

ā = ī − 2j̄ − 3k̄, b̄ = 2 ī + j̄ − k̄, c̄ = ī + 3j̄ − 2k̄  then find ā × (b̄ × c̄)

6. If are angles of a triangle, then 

W t h Vid S l ti

A, B, C

P . T sin2. + sin2. − sin2. = 1 − 2 cos. cos. sin.
A

2
B

2
C

2

A

2
B

2
C

2

https://dl.doubtnut.com/l/_Dpxx3mg7FWS5
https://dl.doubtnut.com/l/_tWNpX7YjoZoR
https://dl.doubtnut.com/l/_ti2ZDWKizq55
https://dl.doubtnut.com/l/_6xNA7TzW14wQ


Watch Video Solution

7. Show that 

Watch Video Solution

r + r3 + r1 − r2 = 4R cos B.

https://dl.doubtnut.com/l/_6xNA7TzW14wQ
https://dl.doubtnut.com/l/_Jw2wixkZL6co

